'Il! !! A!! ! ! ll

ECHNICAL INFORMATION 58837

Subject P> Change of the Hex. Bolt for Fastening Center Cover

HOSVGEEEE B 1,9711D, L0811, LSS00D
P> All countries

P> The bolt in the subject has been changed as illustrated below

in order to keep Center Cover in its exact position.

Hex. Bolt

Center Cover

» Current > New

Flat washer
(integral part of hex bolt M6x14)

= \ é ¢
: | e )
- , = ¢
e IS8
——This new bolt presses Center Cover with larger surface.
Hex. Flange Head Bolt M6x12 Hex. Bolt M6x14
(Part N0.265260-3) (265473-6)

Interchangeability(I/C)

Current part Q'ty | I/C New part Q'ty Note
LS711DW; 061 | Hex. Flange Head Bolt Hex. Bolt M6x14
L™ 2654736 1

LS0811;050 | Mox12 .| | | |20al6 .

LS800DW; 060{265260-3

Interchangeability mark ; «+—— means that the new part is substituted for the current.

Implementation

LS711DW : From serial No.1076A (Aug.,1999)
Please note that the current bolt is used for serial No.1136A to 1315A.

LS0811 : After the current part has been finished.
LS800DW : After the current part has been finished.




